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Q1(i)
The expanson of (x + }r]" has n+1 term so, the sxpansion uf{21:+3f]5 has 6 tams.

Uzing binomial theorem, we have
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Q1 (viii)

Lety =1+ 2x, Hhen

(e 27 - -

The expanson of (x+ y)" has 0+ 1 teams sn the expansion of [y—:h‘f has & terms.
Uming binomial theorem te sxpand, we get
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Lety =x +1, then
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The expansa nf{x-r]r]" has 7 +1 teyms so the expanson of [y——]:’ has 4 terms.
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The expansion of (x +y)" has n+1 terms so the expansion of (y-l ?.xzf has 4 terms.
Using binomial theorem o expand, we get

S T R R S P
- o3y (52) sy {or) 275 O

Substituting y = 1-Zx, we get, %
3 B e
(1-2x4+ 3] = (1-2x)" +3{1 + 4x7 - 4x)(3%%) + 3(1- 2x) (0x7) + (27x5) 6 Q
—1-8x - 6x +12x% + 927 + 36x" - 36x7 + 27x7 - 54> 2 27x° OQ N

=1 6x 4 21x2 - 44x? 3 63x% - 5x> 4 27x \\\ %)
Y

N\
&


http://cbs.wondershare.com/go.php?pid=5239&m=db

https://millionstar.godaddysites.com/ mm Wondershare

Remove Watermark g PDFelement

Q2(i)

(Jx+l+u'rx—1ji+(\&+1— x— 1]‘

R R e e RN e e N
() () G ET) R S T+ e -
e R e A T

Sea ) (1) Se)(da e()

=20 #1) 225 (0 1) (e 1) 415 {4 1) (x— 3+ (x 1)

4 Xl #3x #3000 1500 — 15X + 15x - 15 4 30x~ — 30x
507 + 157 + 15+ 15— 30x° — 30x + 20— 1— Ix® + 3¢

=64x7 - 48x
- 16x (lxz—.'i)

Q2(ii)

(e V1) 4 -1
. 2[':.‘,,:‘ v (fE1) e () tﬁ[ﬁ)‘]
. 2[x‘+15x" (- 1)+ 153 (1) +[x=_1)’]

- z[x"'us.:‘— 15T 3 15x% 5+ 157 —30xY 42 — 1 3x*+azz]

= 64x® - 96x" +36x" -2 Q)bg c’;\\»


http://cbs.wondershare.com/go.php?pid=5239&m=db

https://millionstar.godaddysites.com/

mm Wondershare

Remove Watermark

H  PDFelement

Q2(iii)
(125 + (125
" 1[’(;, + 3G, (20x ) + %4(24'5)4]
- 2[1410x4x x+16 527 x5]

= 2 +80x +160x~

Q2(iv)
(o) sz of

- %o (2] + %6, () + %[ B) + s () 4 Ca\B) 4 s ((B) 4 s S -
(2] + 56 (B) - als2) + () - s (v2)s eaf2)

= 2{23+15322+15:2+1]

- 2[8.460430 41]- 2(55) 198

Qz(v)

(34:2) ~(3-+2)

“2[ @ (8] + P () + (4]

~ 2[5xB1x 7 +10x0x2.3 +4.3]

- 2[405.5 +1805 + 4.5 b\\ C’;\\O

A £2 Q¢
N


http://cbs.wondershare.com/go.php?pid=5239&m=db

https://millionstar.godaddysites.com/ mm Wondershare

Remove Watermark g PDFelement

Q2(vi)

(2+-8) +(z- )
- 2[’(:.,2’ <72 () v @) (B)'+ (B
=2[128421x32x3+35x8x9+ 7 x2 x27]
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[E'CU\;E' = Bopfa S E‘Cb]

=2[,><E +15¢ +15><2+1]

|:x+1:|6+|1x—1:]6=D[x5+1.'-'.x4+‘l.f.x2+1] Asefy
Puttng x =+Z in equaton [}, we ge:
(v +1)" +{x-1)° = 2[{\@}ﬁ +153 [ﬁr +15 [-.E}? + l}
=2|E+60+30+1]

= 2[cq]

- 198
(*+1)° + (% - 1)° — 190

Qs(i)

We have,
(96)° = (100 - 4)°
= By x100% 4+ 30, x 1007 x (4] + 0, x100x(-4)% + 0y x(-4)
=100° - 3x100% x4+ 3x100x 4% - 47
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(102)° = (100 +2)°
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(101)* = (100 +1)*
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T =Tana = L0 7, (2:]’5[;1!]‘. o [;] 25! oo o

" 10151

11™ term from the end= (26— 11+1) = 16® from beginning.
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[1-3x+ ) (1= %) = [1 =30+ 7)1, - T+ "t ¥ B0

- Coeffident of xin {1— S+ ?xzj[l— xjm

= 1x[-"C )= 3x[-1°C)

=-16-3
=-19
Q10
Tnz-rr-tl:ncrx‘_lrr
= 1 Hr ;r
x ¥
- 5] H
x3
rx?‘_% r%
= 1"(-_' 7r | ¢
¥¥2_Hi xi
7.1
x
Trr
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= 42 = =r N-r-3r
& 6

Sinoe x and y have same power
42-3r —(21-4r)
& &
42421 =4r+3r
63=7r
r="%9

Term is 10™

o =tu)
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Q11

r z:lur 13"
(1) 2, (2x9) [;J
x Ty _ x?
40-r =9
=w
(3

3

r can not be in fracion
= There is no taem nvolving x”.
Q12
hwmhhumﬂ(t‘!l;] e
dg=10_,="C x" "y

S

o Uy E Az

xm=l—-‘
12-2r=—1
=13
r-l_3

7

LFd
¢ can nolt be a fracton, therelere there 15 ne bem m the expanzon nf(ngr%]

hawving the tem x "

Q13(i)
o)
s
Heara, 7 — 20 whadh iz an even numbar =, [%-l—l] 1.8, 11" torm i= the middio torm .
We know that, 60 ;\\C)Q)
To=Tra = (1) 1Y @ Q

m-20, F=10, x= 2 x, Z-f o &%

Ty = T;:- o {-ﬂn:cu[i ‘] [5) %’\’(b CB'Q
- ”cmi—“xg xi—m . OQ &Q
- N
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Q13(ii)

Hzre, = 12, which s 2e=n number,

=]
R, [%—1 th lerm L&, JER t=Eem s the mmoddd A terr
o

Heznce, the m cdle e9m = 5= Ty
N L i &
[ M -5"[;] = ()
[ =]
12~ |2 R
- 1oy 2] xfo)
N

19/ P
w B ®
“[E-E)76l xF
_lEx‘l:ﬁlengx?kﬂf B
ExRExgxIn2nl)

L

Tho rriddle form = 0249 & 2848,

Q13(iii)

The tworm foomuk is
ToTea t_ir' Ty

Ta = Tou = L0 55 ()" 5&]‘

5
= -"'t,az"“;s
M s DxH xS i
- hedndnd =2
- 8064~
Q13(iv)

14
o %
A Xe
Hera n— 10, which iz even thersfore ithasz 11 terme bo \

- middls term = E+1J=ﬁ* ferm @
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Here, #="2, which iz odd numbor
Y Y
= [?_;_1: aul [9;114] e, 5, 6™ Lam e Use middle .
Hemer, e Bmun bwonnide
L=Ta= E_ll‘ ":1(1'?[%]

- 4?!.{52[2

_ BxHxSxbxF o
AxdIx2x3 12t

-
8

T = Tou - (1) (2] [%Jﬁ

gxBu?xb 3 4 =
- e —————— x
Exdndz? B

GxBa7xbnd’ 19

-
LaxdmIBwdw ; I-}

21
Mt
1@

Q14(ii)

|

Here, n =7, whidh is odd
[7;1] and [?_1'1+1] - 4% 5 prm e middla term or [1:*_1)
T, =Ty = (1) "™y
e ) 2
--7('32—4;: bo ’\Q
2 s (OQ
=T - {nﬂ”%
75 Ca [ T \{b\ Q

-rqz_:;i 6
_vp Tx6xExB 5 OQ &Q

= ?A0x> ) ,g\\ @(b
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Q14(iii)

i
;P
[x x‘J
T and 8™ terms aremiddle terms
15} 2V (15 g
[T]|3x1g(—F] ,(3]131{ I?[_x_jj

—6435xF %27 64373 1 PF
x ’ e

Q14(iv)

(-
P

Here, n =11, which is odd nimber

th h 11
[11;1] and [%+1] = 6™, 7% term are the middle terms in [x‘—l—]jl)

The term fommula is
T,=T oy~ {—1}' ”crxHrr

R ]
= -MC™

_ 1M x1Dx9x8x7 o
T Sx4x3IxZxl

=—11x3x2x7 x°

1y Tou = (1) () (&)

- N (,;\\0

x
= 462x° @
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Q15(i)
(-3
Here, i = 10, whidch is even, - ithas 11 ams
- midde term is [§+1] = 6™ term
T =Tra = (1) "Cx™y"
Te=Toin = (1) "fs(xl'”[%]s

_-10x9xBx7x6 x*
Sx4x3x2 =

=-3xZxT xb

=252

ld.
- uiﬂomiz["; ] rm

Q15(iii)

[J.-H!.x +ix7+ xz}“’

This expansion is ({ll-x]a)m ={1+ r]“ 0 N O

Sinoe 61 is even - ithas 6111 = odd tenms has middle term is xe>
(5 - S
T, = T = ™Y \f&% Q

Tan = Taons = %6 () (2 %

- PE—;;L] !xa' |_+_- 7o _ 1J OQ &Q
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Q15(iv)

i AR
%)

4* and 5* termsare mi ddls terms

2n # 1 is odd hence this expansion will have 2n + 2 - even tErms.

Hene, middie terms is artd

Term formula s

To = Traa = (1) "Cx"y"

T =Tou= {_1)“ m{cu {xfb’m [%]
= (F1)° g o
- [—1}" .

Tosz = Tossan = (C1)" 20, (x )hm [%]
e
- () e, 2
= ()" >, 2 [+ %€ = "]

=n4+1Ln42
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=

Here 7= 7 which iz odd
'S N
{”1] i LEH |=445* tems
- middle term iz . 2 2
I=L,=(y"Cx™y

) F—Jll’xa i
L= 60X ]
¥

] T
T

Txbxd i
—_—_— B —_—

Fed=l 216
105,

3

L

- 4 - 7—4'I’Ij h
L=L,=(-1)'€(3) LEJ

ooy ox
- — o

4131 4

T L2
4l xﬁxixl?x x

Fwe Dl 1206
B .U

Ex

L= {_i}r R85 ol

Q15(vii)

r L4

t§+9}=]

"q.‘-l

Here n=10, which iz sven thersfors ithas 11 terms
i

. middle term is G+1J=ﬁ* term

L =L, =(-1)"Cxy

318 'Irx\‘m_i =1
I =1, =(-1) C;t EJ {2¥)
L

100 1
B

=61236x"*
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Q15(viii)

For the civen b aomial espenzicr n = 12

_ H - BT

soomied & t2rms [— +1 - =
L2 .

e LS
T, = o (Zax)” " -

T, = G- (Zax) |>E¢|

. - 3
- fﬁneﬁ'\'ﬁj A7 ]
".'1' b
AL A
~ :":G A

I.l - “}CE

A
Fiddle: —orm s L‘ﬁc[ﬂi._ .

=
. = P

Q15(ix)

For the given binomial expansion n = 9,

So middle terms are [%] = 5% term and [?J = 6% term.

The middle terms are 9C4[EJ and 9C5[EJ.
X P
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Q15(x)
For the given binomial expansion n = 10,

So middle term is [§+ 1} =6 term.

o 10-5 a3 =1
wlz) ()
X g =] g
- - ealz) 3]

T.= - 9C_=-252

T, =

Middle term is — 252,

Q16(i)

]
et 1
2 A

In expansion

(5] G

9 -
-%, [;] {x“)[il <
Let 7,,, be mdependent of x
1IB—-Fr=00rr=6
- Requuired teem

3V 1) g
= Tr+1'Tm-Ti'9Q[EJ [E x

(2
Q16(ii)

(]

4th termi sindependent of x

(e G ()5
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Q16(iii)
T = () 6, (227 [;3,] - (1) 7,y

Term independent of x = x®
= X _® B —-0=r=10

= by = (1) B2 x 30 = B, 2158

(-2
T =(1f %, (00 (5]

= (1) P 3By
Term independent of x = x®

= IM-XB

15=3r=0=r=5%
- tg= (1) B3 s
__1m __15x14x13x12x11 05
120

I
=-3003x3"0x 7

Q16(v)
=)

W r
rar ()
- lqcrxs":"a.f xa'ﬁ'i xZ"

Independent of x = x°
o4 g
r
10 -5 = O
r=2

e, Mo, a2
- M7=
1! 1

TR e—— —

2181 36 2x36 4
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Q16(vi)

(-3
Tra= (1) P x™" {%}r
- (-1)" Fc P

Independent of x = x"
¥ sr=n

-1y e,
Q16(vii)

We have,

1 -y
L5 =
= F gyt
2

Let :.r'-t-ljﬂ.4 term be independent of x,

—— 0

—  er-4n

e F: -S

: Tae tarm independerofx = T, @

-ser 3 <
: 56 % %\® Q

Hoaee, required torm = 7 N O @

Now, e 0 X
Ly >
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Q16(viii)

. oy
[l - 4-:'.-“[11—’ .,
d1

ot

T LB & L] 3 5 - 3.
a3 o om0 |

o

Lw the gecand bracket, we ave D ssarch the term = »~ anc % whch wher mulip visng
x
by 1and 2% isfi-st bracket will give the ter+ i1 depardert of=, |he t&-m cartaining _-:';
Wit 13t coout is secand Coateet,
The term acspencsat of v
s -
e e 4 J-cl _zuh F"C'-J.'-_hl
it Bl e A
_ [ B A 1 z LB ] 1
Tigns BazZ7| |LaZ AxZE3

i <

L1
T

T

B
Rugaron o = —
r=

Q16(ix)

we nava,
= wibF
= 1
|37+ J e

G 7

Let (r+1™" term ke independent of v,

e S ]

K ]ib-r (l"’ t{ 1 N
= =

Yo g .S

'{'ﬁ)

¥

- [qx;i

It tis ingepondont ats, e wust e
Lo-gr _
=5

z B 4
Term independet of s = Ta. = T 60 ‘\O
o= el (k] ©

- o T () ,@{o <

16,
) L, . Q &Q
Henae, “zquired torr = gF ‘\\\O @@

o

L

PIC %,
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Let T, beindependent ofx,
P2-3r=0orr=4
- Required term

- E=d ."_1"1"

3 i
== o M I A e | R
r+k 4+L 5 ‘EILZJ tIkEJ x

NhA 3
—i5{Z ﬁ]xuﬁ
Lol

Q17

We know that the coefficent of rth term in the expansion of (1 +x:|” 15 7C
coefficient of (2r +4) th term of the expansion (1+ xjm BN e s

and, coeficient of (r - 2) th term of the expansian {1+x}mn iy O o
Itis given that these coefficients are equal,

lacﬁ'tﬁ - lE"::\I.---E

w e, = ¢
= Zr+3-r-3or 2r+3+r=-3 =18 it i
Sr=s506Ff+s=n
= r=-for, 3r=18
= r=—-60r,r=6
= r=6 [ r =-6 is not possible]
Q18

(1+ x)-ﬂ
43) (43 6\\’ Xe
2r r+1 <

2r+r+1=43 ,@K(’ <

3r=42 S

r=14 ‘\’\\O @fb
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Q19

Now, Coaffioent of (r +1) th term in the expansion of |{4+x]’"1 - B g BRI

and, Coeffident of rth term in (1+ x)" + Coefficent of (£ + 1) th term in (1+ )"

" &
Uy

F+1-1
="C, 1+ "G,
_ nd A nd
{n=(r=1}¢{r=1)t [n=r)ir
n il
= {n-r+1}i{r- 1}f+ [(p-r)dr!
n! !
- (n=r+1)(n=-n)i(r-1/ + {p=rytrir-1)¢
nt n!
N (e T s v o VR e v e
nt 1 1
- (r=r)tr-1)¢ _n—r+1+F:|
_ nt r =41
Clneryir=ni -+ ljr:|
! n+1l
- [r=r)ifr=1)¢ h[n- r+1:|r:|
nif{n+1)
B [r=rlifn-r+1(r-1)tr
{F 13!
= (H—r+1)ir!
n+1)4
T(nei-nird

- n+1Cr
N:Cr = ncra.i + n“:‘r

The coeffigent of (r+1) th term in the expansion of (1 +x}"'1 iz equal to the sum of the coefficients

af rth and (r+1)th terms in the expansion of (L+x)".
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Wea have,

)

Let [r+1}th term be independent of x,

¥
Troi = 3'-'{:’ (H]h_r [%]

L
= Fp T
Ifitis independent of x, we must have,
2n-2r=10
= 2n=2r
= rF=n
. Term independent of x =7,
Mo,

Zen (1Y
Trat = G, [ - 1) “‘*[;]

= *c,
(2}
" Bn-nyint
_[2n)!
By B
2 [En}(En -1:”:2."?- E:]...S:-:li:t:-l 2wl
nind
{1x3xEx..(2r-1)}{2x 4x6 x...2n|
rind
{leXEXH.En-IHxE“{leka.Jﬂ
) nini
_{1x3x5x.. (20-1)) x2" xn!
Rint
< x{lxﬂxEx...[En~lj}
ni

{lexExu,Pn—lﬂ

The tarm independent to x = —
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Q21
We have,
(1+ xj"
M o,

Coefficent of 5th term = "Cg_; = "C,
Coeffient of 5th term = "C, = "Cg
and, Coeffigentof Sthterm= "0y, = "¢
It is given that these coeficents arein 4P,
00 = Ty + 7,

ni ! el
= 2[‘(n—5}.ﬂ5.ﬂ “r-wial [n-g)rer
2 1 1

= [-oist n-9)i4l (n-syiar

- 2 _ 1 . 1
(r=5){n-6)i5x4r (n-4)(n-5)[(r-6)!4! [n-6)/6x5x4!

= < 1 o
(r-58)x5 [(n-4)(r-5) 6=x5

= ..
5(*x=-5) 30 [(n-4)[n-5)

= 12-[n-5) _ 1
30{n-5) [-4)(n-5)
12-n4+5 1

= 30 -Ap-9

o AT &
a0 -4

= 17n-68-n°+4n =30

= 21n-68-m*-30=0

=  2in-n®-98=0

= P -21n+98 =0

= né-7Tn-14n+98 =0

= nin=7)-17[n-7)=0

= (r=7)rn-14)=0

= n=7or n=14
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Q22
We have,
(14x)7
MNow,

Coefficient 2nd term = ZC, , = #C,
Coefficient 3rd term = #C,, = ',
and, Coefficent 4th tarm = ¢, , = ¥'C,
It is given that these coefficients are in 4P,
2%C, = 20 4 Py

2 Zn-3+1 "C,  n-r+i
T #ogpoamtt = ["'”c,;: r ]
L o B8(n-1En-2)
3(en-1)
= 6(2n-1)=6+4n” - dn-2n+2
= 127 -6 =B+ 4% -6n
= 4 —Bn-12n+B+6=0
= an®-18n+14=10
= 2[2n2—9n+?)-ﬂ
= 2n*-9n+7=0 Hence proved,
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Q23

We have,
[1 +X)”
Let the three consecutive terms are rth [r+ 1:|th :lﬂ"

Coefficients of rth term = *C,_, = 220

and [r+2)" ie, 7,7y and Tp

Coefficients of (r +1:|ﬂ'I term = °C, 4y = "C, = 495

and, Coefficients of [r +2j1j1 term = "CL,oy = "0 = 792

Mo,
”CHI_?';IE
Ry _E
_ n—(r+l:|+1=?92 l "C, =n—r+1}
F+1 495 Ty r
- n—r=E
F+1 495
72
45
_ B
5
- n—r=§
r+1 &
= En-Lbr=08r+8
= Sh-Sr-8r=2
= En-13r =8 -—i)
and, G _ 495
"C,_, 220
- n—r+1=ﬂ
r 20
45
S 20
9
4
= nor+l_3
r 4 @
= dn-—dr +4=0r Q ‘\Q
= dh-4r -8r=-4 b 6\'
= dn-12r = -4 -—{ii} @

9
Subtracting equation (i} from equation (i}, \é %-Q

n=8+4 %
= n=12 OQ &Q
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Q24

We have,
[1+X:|”
Coefficients of 2nd term = "Coy = "0y
Coefficients of 3rd term = "Cqy = "Gy

and, Coefficients of 4th term = "Cy = "Cy

It is given that these coefficants are in AP,
2.".'(:\-2 = ncl + nCS

il il
= o= S, 53
ncz ncz
- __ 2 n-3+1 ”C‘Hl_n—r}
n-2+1 3 "C, F+1
= o2 ,n-¢2
-1 3
_ _ 6+[n-1)[n-2)
3(r-1)
= 6(n—1j=6+n2—2n—n+2
= Br-6=08+n" -3n
= R —An-GBn+8+6=0
= n-on+14=n0
= n?-Tn-2n+l14=0
= nin-7)1-2(n-71=10
= (r-2(r-7)=10 [+rn-2=0]
= n=7
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Q25
We have,
(1 +xj”
Coefficients of pth term = °C,_,
and, Coefficients of gth term = °C,_,

It is given that, these coeffidents are equal.
ncp—l = ncq—l
= p-1l=g-1lor,p-1+3-1=n

= p-g=00cr, p+g3=n+2

p+g=n+2 Henceproved,
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v "o, = e,
=Fr=%5ar, rFr+s5=~n
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Q26

We have,
(144

Let the three consecutive terms are 7., 7,4 and 7,2
Coefficients of 7, = "C,_; = 56
Coefficients of 7,4 = "C,pqq = "2, = 70

and, Coefficients of 7,0 ="C,a = "0y = 56

Mo,
ncr+1 _ 56
e w0
- r-lr+11+1 4 "C, _n-r+1
F+1 = ”cr_l r
n-r 4
) =
r+1 &
= n-br=4dr+4
= Sh-or =4 -==1i]
and,
n'?cr _ E
"C._y 5B
n-r+1 &
= _ = —
r 4
= G - 4+ 4= 5r
= dn-r=-4 - (i)
Subtracting equation (i) from (i), we get
=4+4=28
Put » = 8 in equation (i}, we get
ExB-8r=4
= -9r =4-40
= =4
Three consecutive terms are 4th, 5th and &6th. @
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Q27

We are giver,
fa=a, Ty=bh, Ts=c, To=d
We have to prove that
b*-ac 5a
ci-ba’=E
b -ac 5|c?-bd
2. 5|0

2
=) 1[b%-ac|_5|c*-bd
b e 3| bc
= 8L E[E-‘i} (i)
Mow we lknow,
3= ""'szﬁ“ﬁz
b= "0 %2
com Pyt
d= ncwk,n-SmE
Putting these values in equation {i}, wa gat
ncf(nﬁzm} qc‘x,.r.---lmq- 5 .&qua-ill ncs‘b{n-ﬁmﬁ'
“':2}{”'2!1-2 T nc.axn-:imj i Y .&caxn-zma = ncﬁn-i&mﬁ

= [ﬁa&]ié& _Ei-ﬁ-i]
"C, "Cylx 3IX|"Cy 0y
We know that,
i _n=r+l
i r

The given equation above becomes,

RS ¥

2 9 3 ) E

4n-8-3n+9 Bdr-=-15-4"1+16

= =
J=4 I

= P+l n+1

1z 12
Which is true,

Hence proved. @
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Q28
Suppose the binomial is (z+a)”
We are given,

TEEEJ T—;“b; r&“’ﬂ; rgﬂd
We have to prove that

B - ac _ 43

ci-pd 3

b - ac 4[-:2—@:'}
— = —

a 3 o

1[6% - ac 4 c‘z-bd
—] — -

b a 3 bc
=i b_c_#le_d —(i)

a b 3lb ¢
Mow we know,

g= hcﬁﬂ-smﬁ

b= nC6X”_6¢6
c= "0 e’
&= ncsxn—&ms
Putting these values in equation (i), we get

"C&Vﬂnsﬂ,s nc?xn-Tm?v g 4|:nc?*nv71? k':g’f»-ﬂll-a}

EC'&KJ‘_EJ:L!' - *C‘E,x"’"éz"" 3 nc.ﬁxn-ﬁm& y HC-;KMTI:-T
= |2 "Czla =Gy G
nCE HC€ x EH nC& ﬂc-’

We know that,
T, n=r+1
ncr—l e
The given equation above becomes,
n=5% n-=~K 4[n-6 n-7

& r 3 7 =
n-35-6n+36 . Br—48-Tn+ 49

bx7 IxTx2
r+l n+l

Whid‘nisﬁue. * 60 ‘\06

Hence proved.

=
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Wwe have,
[1+x:|”
Let the three consecutive terms are T, ,

Coefficients of rth term = 7C,_; = 76
Coefficients of [r+1)th term = °C, ;= "C, = 95

I

and, Coefficients of [r+2)th term = °C, 5 = °C,,, = 76

J.-"'li and ?;‘+2

Mow,
iilr:::H-l 75
L & a5
- n—{r‘+1:|+l_E e, _n-r+1
r+1 g5 ”c‘__l r
n-r—-1_4
o =
r+1 5
h=-r 4
= -
r+1 5
= Sn-br=4r+4
= Sn-br-dr=4
= En-0Or =4 —|[|:|
and,
fC. a5
°C,y 76
f=-r+l &5
S
= 4n-4r+4="5r
= 4n-9r=-4 == (i)
Subtracting equation (i) fom (i}, we get
edsd
= n==8
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It is given that,

1
Te=112,T4=7,Tg =~

S

To= "C a7 xa¥ = 112

T= " w7

and, Tg=”cn_—,-x”'?xa?=%
[ e,
Tr_ "Caex™ S xa® _ 7
:."6 ncn_a}(n—ﬁxaﬁ 112
_ ”Cn_ﬁxa_ 1
"C.s % 18
n-G6+1 a 1 "C,  n-r+1
= _ - =— - =
r-m-81+1 x 16 i, "
- nh-5 a 1
H—=—
a] x 16
- 3 E'x 1
¥ 16 n-=5%
- 3.3, 1 i)
¥ B [n-5)
and,
To_ "Cp"Txal 1
:."? HCH_E,XR_E o .5'6 i
=
= To_ "Gz, 2 _ 1
T *C._. x 28
- "Cos a 1
H— = —
fT, o X 28
- h-7+1 xa_ 1
n-[n-6)+1 x 2B
h-6 1
= wl=_—

= i —(0 & C}\O
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—x =
= [n—Ej 4[:/‘.'—6:]
_ 3,1 __1
2 [n—E) [r.-—Euj
= 3|:n—6j=2|:n—5j
= Ir-18=2n-10
= In-2n=18-10
= h=a
Putting n =8 in equation (i), we get
a 1
% 4(8-86)
a2 1
= ==
X g
= X =83
[ 2w,
To=11%2
= " s XX xa® =112
= fraxx¥xa’ =112 [-n=8]
=  foyx(sa)’s - 112 [+ % = 84]
B.‘l
= —  xg3¥x5s =112
(8-3)73¢
B.‘l
=X . xEB12x3%=112
3!
!
-, Bxi?x6x5! cyo 28_ 190
Lr3!
. 112
= g ="
Eox512
- aa=i
LK1z
1
= 3% = —
256

U
11]
o
]
e
—
o

M|~

1
= ==
2
. 1.
Putting & = Z In & =83, we get
1
N=8rm=—=4%
2

Hence, x = 4, a=% and rn =8,
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It is given that
T, = 240
7, =720
7, = 1080

= "C xx"lxa=240
Ty="Caxx"2xa?=720

and, Ty="Caxx" % x3° = 1080

MNow,
Ty "Cyxx™%wxa® 1080
7 ”szx”‘zxaz 720
e
Z

.
Coxw 2

- n—3+1xa_3
2+1 ¥ o2

- n—Exa_B
] x 2

= 2__°2 -—{i)
x  2(n-2)

and,
T, C,xx"txa® 720
[ ”CixX”JXE 240
hr
i

= 2,3 _
n'?cl N

- ”_E+1xi=3

2 X

= n_lxi=3
2 N

- 2.5 ——(ii)
o on-1
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Comparing equation (i} and equation (i), we get
5 9
n-1 2[n-2)

= 12{n-2)=9(n-1)
= 12n -24=09n-9
= In==24-9

= =15

= h==5

Putting = 5 in equation (i), we get

a 6

¥ -1

a2 b
= - ==

X 4

a 3
:"‘ —_ = —

¥ o2

3
= a=_x
2

Mo,

T, = "Cyxx™1xa=240

5 4 (3 3
= CyEa = x| =240 whn==58and a==x

2 2

s 240x2

= X =
E=3

= 7 =32
= x9 =27
= X =2

Hence,x =2, =3 and n = 5.


http://cbs.wondershare.com/go.php?pid=5239&m=db

https://millionstar.godaddysites.com/

Q32

It is given that
=729
T = 7290

and, T,=3037%

Ti="Cgxa" =720

T="C,; xa" ! «b=7200
and, Ta="C,oxd “xb”=30375
M o,

To_ "Chyx@xb 7290

m fCaxa® 729
», -1 h
> HuxdTxb 4,
g a”
: b
= —==l = =10
1 =3
al b
= 2 =il
(n—n+1:|.‘{n—1}.f“a
nt b
= e———x—=l0
(nul)‘fna
-11f
= n[n :I HEH 10
n=1)! " a
b 10
= — —
= s
anid,
Ta  "Chopxd 2xb® 30375
L fC,yxa"twh 7290
n
= 2R 25
T
n=241 b. 26
= oy s
n—{n—1+lxa =
o n-'lxb 25
2 a2 6
b 25 2

mm Wondershare
PDFelement

Remove Watermark g

—==(i)

& o n=r+1
kcr—i K
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We have,
(3+a¢)” = %) %37+ %0 % 3% x @)’ + 90, 37 x(ax)? + Foy x B x[ax)® 4.
Coefficient of % = %C, x 37 x 3°

and, Coefficient of ¥¥ = 0% 3% x3°

Mow, Coefficient of 2 = Coeffident of » 3
= 9C2x3?xaz=9C3x36x5'3
= 36 %3 xa® = B4x3% x5°
36x3° 9
= 3 = — ==
34«3 7
Q34
W= have,

[1+28)" 2 - 27
[ Iaks
BT S LY (13- M IR [T T (L

ard, [2oepT =Sl SRt ) T, 3T et et T ()t Sg) 2
]

= ':‘Cn w2 - ':':‘l wEt v — "'C:_Y_E'3 Wt — ':C“R.V.Z‘: :f..=.'3+':lf“l w2 wat - ':‘l_"‘_.rw.:

5 + S5- a

5 Ty w2 wa+ Moz

- - o
LDX:E— - aT

123"z 2= oz et e 4@,1[253‘][

- Pk Mo = 4! 5
—C3wZ v=+-il_._1.\:.¢x:| —ﬁCS.\::'

Coeffoects of 3% = 250, - G0 wZw oy w2+ Aog (2] w g mzt oty 217wy v et e oy 2 ey 2
—Ezma=-8xdwl0+F2 B T -128x e E4ELlERlx]
= 1M = 370 + 1980 = FEAC + 517
= 447 - FRAN
- zH

CocfFoo-ts of o7 = 434,

(5-5)

10 E: 3

[ } x| [—52] =405
2 x
45k% = 405

P =9
k=73
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14 L
gt

B |y, it amned
| ! |
7)o
#
o)
n—2

#ir—11=50

nt =10 +%n— 90
a(n—10)+90z—10) =0
n=—Y%ar110

# cannot be negative So n=10
2
3

el i

10 ;
65&52:’?}{ 5 J[ o |j [2 |5 e

Q37

sl
o)§) -0

Topt=1120
pt=16
p=:
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Q38

4]

Tthtarm from begimingis

(% ()

Ttatarm from endis

AL

= : :!—].‘2[ { Jlﬁ—x
12 | S
Tthterm from begining \6,) i3
Tthterm fromend [ o J
#

CFivern

-12

[:J EAR

x

7 6
n—0
P3—12=_1
3
n=12-53=19
Q39

1 r
g —] arc zgeal,
e

Scuentt torm frorr the beginnirg and enc in the sinomial cxpansion of

N

s el (] - e () &
Nt $ Q@
N 0 s
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